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Sample Paper – 2009
Class – X

Subject – Mathematics
Time: Three hours





Max.Marks :80
General Instructions
.

1. All Questions are compulsory.

2. The question paper consists of thirty questions divided into 4 sections A, B, C and D. Section A comprises of ten questions of 01 mark each, section B comprises of five questions of 02 marks each, section C comprises of ten questions of 03 marks each and section D comprises of five questions of 06 marks each.

3. All questions in Section A are to be answered in one word, one sentence or as per the exact requirement of the question.

4. There is no overall choice. However, internal choice has been provided in one question of 02 marks each, three questions of 03 marks each and two questions of 06 marks each. You have to attempt only one of the alternatives in all such questions.

5. In question on construction, drawings should be neat and exactly as per the given measurements.

6. Use of calculators is not permitted. However you may ask for mathematical tables.
Section - A
1. Find the Euclid’s division algorithm; find the HCF of 4052 and 12576.

2. The sum and product of the zeroes of a quadratic polynomial are - ½ and -3 respectively.
3. A bag contains 4 red and 6 black balls. A ball is taken out of the box at random. Find the probability of getting a black ball.
4. If sin 3A = Cos(A – 60) and 3A and A-60 are acute angles, find the value of A.
5. [image: image3.emf]In fig. [image: image11.emf]
6. Given that HCF (306, 657) = 9, find LCM (306, 657)
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7. Write the number of zeroes of the polynomial y = f(x)
8. Given an = 4, d = 2, Sn = –14, find n and a.
9. How many three-digit numbers are divisible by 7?
10. ABC is an isosceles triangle right angled at C. Prove that AB2 = 2AC2
SECTION B
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11. O is any point inside a rectangle ABCD (see Fig).
Prove that OB2 + OD2 = OA2 + OC2.

12. Solve 2x + 3y = 11 and 2x – 4y = – 24 and hence find the value of ‘m’ for which
y = mx + 3
13. Find the value of k if the points A(2, 3), B(4, k) and C(6, –3) are collinear.
OR

Find the area of a triangle formed by the points A (5, 2), B (4, 7) and C (7, – 4).

14. A bag contains 5 red, 8 green and 7 white balls. One ball is drawn at random from the bag, find the probability of getting
(I) a white ball or a green ball (ii) neither a green ball not a red ball.
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SECTION C

15. Use Euclid’s division lemma to show that the square of any positive integer is either of the form 3m or 3m + 1 for some integer m.

16. Solve by cross multiplication:

6(ax + by) = 3a + 2b,    6(bx – ay) = 3b – 2a

OR

(a – b)x + (a + b)y = a2 – 2ab – b2
(a + b) + (a + b)y = a2 + b2
17. Prove that √2 is an irrational number.
18. If the 8th term of an A.P. is 31 and 15th term is 16 more than the 11th term. Find its 10th term.

19. Find the coordinates of the point which divides the line segment joining the points         (4, – 3) and (8, 5) in the ratio 3: 1 internally.
20. [image: image7.emf]Prove

OR
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21. Find the area of the shaded region, if the diameter of the circle
with the centre o is 28 cm and AQ = ¼ AB

22. Find the point on the x-axis which is equidistant from (2, –5) and (–2, 9).
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23. In Fig. A, B and C are points on

OP, OQ and OR respectively such that

AB || PQ and AC || PR., Show that BC || QR.

24. Construct a triangle ABC in which AC = 6 cm, AB = 9 cm and angle BAC is 450. Then construct a triangle similar to the given triangle whose sides are 2/3 of the corresponding sides of the triangle ABC.
SECTION D

25. Prove, in a right triangle, the square of the hypotenuse is equal to the sum of the squares of the other two sides (Pythagoras Theorem).
Using this, if ABC is right angled triangle right angle at B, if AC = b, AB = c, BC = a and perpendicular drawn from B to AC is p then prove ac = bd.

OR

If a line is drawn parallel to one side of a triangle to intersect the other two sides in 
distinct points, the other two sides are divided in the same ratio.

Using this prove:  In Fig., DE || AC and DF || AE. Prove that   BF/EF = BE/EC
26. A contract on construction job specifies a penalty for delay of completion beyond a certain date as follows: Rs 200 for the first day, Rs 250 for the second day, Rs 300 for the third day, etc., the penalty for each succeeding day being Rs 50 more than for the preceding day. How much money the contractor has to pay as penalty, if he has delayed the work by 30 days?
OR
A two digit number is such that the product of the digits is 14. When 45 are added to the number, then the digit interchanges their places. Find the number.

27. A kite is flying at a height of 60m above the ground. The string attached to the kite is temporarily tied to a point on the ground. The inclination of the string with the ground is 600. Find the length of the string, assuming that there is no slack in the string.

OR

Two poles of equal heights are standing opposite each other on either side of the road, which is 80m wide. From point between them on the road, the angles of elevation of the top of the poles are 600 and 300, respectively. Find the height of the poles and the distance of the point from the poles.

28. A tent consists of a frustum of a cone, surmounted by a cone. If the diameters of the upper and lower circular ends of the frustum be 14 m and 26 m respectively, the height of the frustum be 8m and the slant height of the surmounted conical portion be 12 m, find the area of the canvass required to make the tent. (Assume that the radii of the upper circular end of the frustum and the base of surmounted conical portion are equal.
29. The distribution below gives the weights of 30 students of a class. Find the media weight of the students.
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